Multiplying by 4 (A)

Name:

5% 4 =
1x4 =
4% 4=
0X4 =
6X4 =
7 X4 =
0% 4 =
3X4 =
8 X 4 =
2 X4 =
7 X4 =
1 x4 =

3X4 =

Date:

Calculate each product.

8 X 4 =
4% 4=
6% 4=
5% 4 =
0X4=
0 x4 =
2 X4 =
7X 4 =
6% 4=
8 X 4 =
4% 4=

OX4 =

Score:
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Multiplying by 4 (A) Answers

Name:

Date:

5% 4 =
1x4 =
4% 4=
0X4 =
6X4 =
7 X4 =
0% 4 =
3X4 =
8 X 4 =
2 X4 =
7 X4 =
1 x4 =

3X4 =

DO U8 p— W NS, O = N\
B8R s 8RR

Calculate each product.

8 X 4 =
4% 4=
6X4 =
5% 4 =
0X4 =
0% 4 =
2 X4 =
7X 4 =
6% 4=
8 X 4 =

4xX4= 16

OX4 = 36

Score:
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Multiplying by 4 (B)

Name:

3X4 =
0X4 =
2 X4 =
4% 4=
1x4 =
8 X 4 =
7 X4 =
6% 4=
0% 4 =
5% 4 =
2 X4 =
7X4 =

5X4 =

Date:

Calculate each product.

6X4 =
1x4 =
0X4 =
3X4 =
0% 4=
8 X 4 =
4% 4=
7X 4 =
3X4 =

0X4 =

8 X 4

1 X4 =

Score:
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Multiplying by 4 (B) Answers

Name:

3X4 =
0X4 =
2 X4 =
4% 4=
1x4 =
8 X 4 =
7 X4 =
6% 4=
0% 4 =
5% 4 =
2 X4 =
7X4 =

5X4 =

DO N\ W (NS (NS o8 p— e
=88R BB E 2R

Date:

Calculate each product.
6X4= 24
1x4= 4
Ox4= 0
3x4= 12
Ox 4= 36
8X4= 32
4x4= 16
7X4= 28
3x4= 12
O0xX4= 0
8X4= 32
1x4= 4

Score:
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Multiplying by 4 (C)

Name:

OX4 =

2X4 =

0X4=
8 X 4 =
3X4 =
4% 4 =
6% 4=
1x4 =
7 X4 =
4% 4=
5% 4 =

2X4 =

Date:

Calculate each product.

6 X4 =
7X4 =
8 X4 =
1 X4 =

3X4 =

0Xx4

OX4 =

5X4

0X4=

OX4 =

6 X4

4% 4=

Score:
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Multiplying by 4 (C) Answers

Name:

Date:

9 x4 =
2 X4 =
5% 4 =
0X4=
8 X 4 =
3X4 =
4% 4 =
6% 4=
1x4 =
7 X4 =
4% 4=
5% 4 =

2X4 =

N\ = NS (NS = = W NS W
© 85 8 &R E 8BRS

Calculate each product.

6 X4 =
7X4 =
8 X4 =

1 X4 =

24
28
32
4
3x4= 12
O0xX4= 0
Ox 4= 36
5%X4= 20
OxX4= 0
OX 4= 36

6X4= 24

4xX4= 16

Score:
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Multiplying by 4 (D)

Name:

OX4 =

2X4 =

8 X 4 =
6X4 =
4% 4 =
3X4 =
1x4 =
0X4 =
5% 4 =
3X4 =
8 X 4 =

OX4 =

Date:

Calculate each product.

5% 4 =
1x4 =
4% 4=
6X4 =
2 X4 =
0X4 =

7X4 =

3X4

7X 4

0X4 =
2X4 =

4% 4=

Score:
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Multiplying by 4 (D) Answers

Name:

0% 4 =
2 X4 =
7 X4 =
8 X 4 =
6X4 =
4% 4 =
3X4 =
1x4 =
0X4 =
5% 4 =
3X4 =
8 X 4 =

OX4 =

W = (\O = = N\ W (NS, W
SR 8 AR E R R =S

Date:

Calculate each product.
5X4= 20
1x4= 4
4x4= 16
6X4= 24
2X4= 38
O0xX4= 0
7X4 = 28
3x4= 12
7X4= 28
O0xX4= 0
2X4= 8
4x4= 16

Score:
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Multiplying by 4 (E)

Name:

4% 4=
8 X 4 =
2 X4 =
5% 4 =
7 X4 =
0X4=
3X4 =
6% 4=
1x4 =
9 x4 =
5% 4 =
4% 4 =

2X4 =

Date:

Calculate each product.

6 X4 =
0X4=
OX4 =
1 X4 =

8 X4 =

7X 4

3X4 =

9X4

7X 4

6 X4 =

0x4

2X4 =

Score:
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Multiplying by 4 (E) Answers

Name:

4% 4=
8 X 4 =
2 X4 =
5% 4 =
7 X4 =
0X4 =
3X4 =
6% 4=
1x4 =
9 x4 =
5% 4 =
4% 4 =

2X4 =

= NS o8 (NS = NS N\ W —
© 5 8 & & RE BB =85

Date:

Calculate each product.
6X4= 24
Ox4= 0
Ix 4= 36
1x4= 4
8X 4= 32
7X4= 28
3x4= 12
Ox 4= 36
7X4 = 28
6X4= 24
O0xX4= 0
2X4= 8

Score:
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Multiplying by 4 (F)

Name:

3X4 =

2X4 =

7 X4 =
5% 4 =
6X4 =
8 X 4 =
1x4 =
4% 4=
9% 4 =
0X4 =
1 x4 =

8§ X4 =

Calculate each product.

2 X4 =
7 X4 =
3X4 =
6% 4=
0 X4 =
4% 4=
5% 4 =
0% 4 =
1x 4=
5% 4 =
4% 4=

7X4 =

Score:
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Multiplying by 4 (F) Answers

Name:

Date:

3X4 =
2 X4 =
0X4 =
7 X4 =
5% 4 =
6X4 =
8 X 4 =
1x4 =
4% 4=
9% 4 =
0X4 =
1 x4 =

8§ X4 =

W p— o8 ) N\ NS, p—
o8 AR BRI

Calculate each product.

2X4 =
7X4 =
3X4 =
6 X4 =

OX4 =

8
28
12
24
36
4x4= 16
54 = 20
Ox 4= 36
1x4= 4
5%X4= 20

4xX4= 16

7X4 = 28

Score:
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Multiplying by 4 (G)

Name:

2 X4 =
6X4 =
4% 4=
0X4 =
0% 4 =
8 X 4 =
7 X4 =
5% 4 =
3X4 =
1 x4 =
0X4 =
6X4 =

4% 4=

Date:

Calculate each product.

5X4 =
8§ X4 =
2X4 =
1 X4 =
3X4 =
7X4 =

OX4 =

9X4

0X4=
3X4 =
7X4 =

6 X4 =

Score:
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Multiplying by 4 (G) Answers

Name:

Date:

2 X4 =
6X4 =
4% 4=
0X4 =
0% 4 =
8 X 4 =
7 X4 =
5% 4 =
3X4 =
1 x4 =
0X4 =
6X4 =

4% 4=

(N P N\ (\® o8 W p— N\
R o R EBEREE SRR

Calculate each product.

5X4 =
8§ X4 =
2X4 =
1 X4 =

3X4 =

20
32
8
4
12
7X4 = 28
Ox 4= 36
Ox 4= 36
OxX4= 0
3x4= 12

7X4 = 28

6X4= 24

Score:
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Multiplying by 4 (H)

Name:

3X4 =
2 X4 =
9 x4 =
7 X4 =
0X4=
6X4 =
8 X 4 =
4% 4=
5% 4 =
1x4 =
1x4 =
4% 4 =

6 X4 =

Date:

Calculate each product.

0X4 =
3X4 =
2X4 =
7X4 =
5X4 =
8§ X4 =
OX4 =
5X4 =
1 X4 =

3X4 =

0x4

8 X4 =

Score:
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Multiplying by 4 (H) Answers

Name:

3X4 =
2 X4 =
9 x4 =
7 X4 =
0X4=
6X4 =
8 X 4 =
4% 4=
5% 4 =
1x4 =
1x4 =
4% 4 =

6 X4 =

= N\ = W N\ (NS, W —
5285 8RR E =

Date:

Calculate each product.
O0x4= 0
3x4= 12
2X4= 8
7X4 = 28
5%X4 = 20
8X4= 32
Ox 4= 36
5%X4 = 20
1x4= 4
3x4= 12
O0xX4= 0
8X 4= 32

Score:
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Multiplying by 4 (I)

Name:

0% 4 =
3X4 =
1 x4 =
7 X4 =
2 X4 =
4% 4 =
8 X 4 =
6% 4=
5% 4 =
0X4 =
9% 4 =
0X4 =

4% 4=

Date:

Calculate each product.

3x 4=
1x4=
7X 4 =
6% 4=
5% 4 =
8 X 4 =
2 X4 =
0X4=
7 X4 =
4% 4=

8 X4 =

OX4 =

Score:
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Multiplying by 4 (I) Answers

Name:

Date:

0% 4 =
3X4 =
1 x4 =
7 X4 =
2 X4 =
4% 4 =
8 X 4 =
6% 4=
5% 4 =
0X4 =
9% 4 =
0X4 =

4% 4=

(o8 N\ (NS (o8 P NS - (O8]
° 8 e 8RB E =R RS

Calculate each product.

3X4 =
1 X4 =
7X4 =

6 X4 =

12
4
28
24
5%X4 = 20
8X 4= 32
2X4= 8
O0xX4= 0
7X4 = 28
4x4= 16

8X4 = 32

OX4 = 36

Score:
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Multiplying by 4 (J)

Name:

4% 4 =

7X4 =

2X4 =
0X4=
6 X4 =
1 x4 =
OX4 =
8 X4 =
5X4 =
6 X4 =
1 X4 =

8§ X4 =

Date:

Calculate each product.

3x4 =
4% 4=
5% 4 =
0X4 =
0% 4=
2 X4 =
7 X4 =
0% 4 =
3X4 =
0X4 =

4% 4=

S5X4 =

Score:
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Multiplying by 4 (J) Answers

Name:

Date:

4% 4=
7 X4 =
3X4 =
2 X4 =
0X4 =
6X4 =
1x4 =
OX4 =
8 X 4 =
5% 4 =
6X4 =
1 x4 =

8§ X4 =

(NS N\ U8 W ) = (NS, p—
SR8 EE AR >R RS

Calculate each product.

3IX 4=
4% 4=
5% 4 =

0Xx4 =

12
16
20
0
Ox 4= 36
2X4= 8
7X4 = 28
Ox 4= 36
3x4= 12
O0xX4= 0

4xX4= 16

5X4 = 20

Score:
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